el
L,

M M, a, b

=
=

Axlt+ax+b=00°] T x=-4

oy I
3

3]
<]

Ul il

N~ I~

1%;—1—1
-

13}



i
i

@ 6x2-9x4+9=0

DO P®*+8=6x+1

@ 3x—1=4x2—x

1

® (x-2)%-x

B 2-1=0



X

O

yll
a(z—p)”
9

y=

0 | <

@ 1

o | <

— |\

— | <



= 1 -
4. Ok y = Sa® Hmxtn o HAH S HITH(6,-14) D W, m+n

o] & Fsfoier.

YEE
-



7t x

22 +ax+b=09

Hp 4|
sfofet,

o1}

5.

23



e
Hip

+

S)

)
H

€ 2

® x=-5+V6

)



7.

oA 32~ 3r—2 = 0 9] L& FohH?

@x:—?)ig\/ﬁ @x_313\/§
@x:3i\/§ @x:?)i\/ﬁ



O|FPFAA x2 - 3mx—-m+1=09 F L H7F1: 24 of

8.

® -1,-



L asol A

oS wEs

9.

2 300]|tt.

@_

o 49t 1 5] A5

® 63 A 65 @ 67 B 77

@D 61






ol y = x2 — 6x+ 5 © T L} x FIho] W] x H;ety
3wl y HEE F5hA?

D xo #&E:2 0,y FE0

@ xFE -5 -1,y HE: -5
® x o ;11 —3,y94}}£:g
@ xo FH®:1, 5,y FHE5

® xdFF0 2,y FAFE0



=7

14 o T+
O]p%“ﬂ,pz—gp—J%A

s

=029

OJAPL A Al 3x2 —14x+8

12.

|

10 |0



ol
RS
J
T

B -12

@ -5

® 0

@D 12



14.

steht 1570 0 ¥l e wastelrt. of Wy

%ﬂ 570] thro] 578t H Y 244t 7130wl E o)

o] 3 5} 4 71 7} Alch. of uf, FARSe)






16. a9 Zol7k 24em 9 R Holrk AL o, o] RAjZe] 59
Zolg Fatofet,

Qe -



17.

OJAPAAl x2 4 2x—1=029 F
Tskoq et

ap® +p® 9 g

ge
»

T 1
T

[e)

=

o, B 21



18.

y=3x2+2x+a 2 WL} A (a,a® +2) & AU x
23} T Ho A B EE 4 o] Zhe Asholat,



19.

y=-3x>+1° I =Z x
1 95 Bgol AR :LEH”/]
W olE 75HH?

D 16 @ 20 ® 26



20.

ohe 2RI ol y = 2 4-2x-3 o] T 2L7}
xS £ A4S A B, BAHS C
gt o, AABC 9] Hol=?

@ 6 @ 7 ® 8

@9 ® 10

>

\w




